ITEC314 – MULTIPLATFORM PROGRAMMING

Tutorial 01 – Exercise for MT 1
1. Write a method with a name “letter_grade”.It should get an integer argument named  “grade”. Your method should calculate the “Letter Grade” with using the “Grading Scale” below, and finally it should return the “Letter Grade” to back

Grading Scale

90-100
: A


60-64

: C

85-89
: A-


56-59

: C-

80-84
: B+


53-55

: D+

75-79
: B


50-52

: D

70-74
: B-


40-49

: D-

65-69
: C+


00-39

: F

Solution

    public static String letter_grade(int grade) {


      if (grade>89) return "A";





      else if (grade>84) return "A-";



      else if (grade>79) return "B+";

      else if (grade>74) return "B";

      else if (grade>69) return "B-";

      else if (grade>64) return "C+";

      else if (grade>59) return "C";

      else if (grade>55) return "C-";

      else if (grade>52) return "D+";

      else if (grade>49) return "D";

      else if (grade>39) return "D-";

      else  return "F";

    }

2. Write a method with a name “is_prime”. It should get an Integer argument named "num". It should test that number whether it is a prime number or not and return either true or false.

Hint: a prime number is an integer that only can be divided by 1 and itself.

Solution:

public static boolean is_prime(int num) {


        int i;

        boolean prime=true;




        for (i=2;i<num;i++) 

       { 

           if ((num%i)==0) prime=false; 

        }

        return prime;




    }

3. Write a method with a name “factorial”. It should get an Integer argument named "num".

It should calculate the num!= num * (num-1) * (num-2) * ... * 2 * 1

Finally your method should return the calculated value to back.

Solution:

   public static int factorial(int num) {

        int i;

        int factor=1;





        for (i=2;i<=num;i++)



        {

           factor*=i; 





        }

        return factor;





    }

4. Write a method with the name "calculate” that will get three integer arguments (a, b, n), then it should calculate the formula given below. Finally it should return the result back

     (7 points).
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Solution:

public static double calculate(int a, int b, int n) {  // Header 1 pt
            double result=0;
// Definition and initializaion of var. 1 pt
            for(int i=5; i<=n; i++) {
// correct loop 2 pts
               result+=Math.sqrt(Math.pow(b-n,a)/Math.abs(a-n);  //formula: 2 pts
            }

            return result;   // returning the result 1 pt
        }
5. Write a method with the name "calculate” that will get an integer argument (n), then it should calculate the formula given below. Finally it should return the result back

     (7 points).
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public static double calculate(int n) {

// Method header 0.5 pts

            double result=1;         //variable definitions 0.5 pts

            int i ;

            for(i=1;i<=n;i++) {       // loop  1 pt

                 result*=Math.sqrt(i+2)/2;   // formula 4.5 pts

                 }

              return result;    // returning the value 0.5 pts
            }






 

6. Write a method with the name "calculate” that will get an integer argument (n), then it should calculate the formula given below. Finally it should return the result back

     (8 points).
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public static double calculate(int n) {

// Method header 0.5 pts

            double result=0;         //variable definitions 0.5 pts

            int i ;

            for(i=0;i<=n;i++) {       // loop  1 pt

                 result+=Math.pow(4-i,-10);   // formula 5.5 pts

                 }

              return result;    // returning the value 0.5 pts
            }
7. Write a method with the name "calculate” that will get three integer arguments (a, b, n), then it should calculate the formula given below. Finally it should return the result back

     (8 points).
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Solution: 

public static double calculate(int a, int b, int n) {



            double result=0, res1=1, res2=0;         

            int i ;

            for(i=1;i<=n;i++) {       

                 res1*=Math.sqrt(a-Math.sin(b));   

                res2+=Math.pow(a+b,n);   

                 }
              result = res1/res2;  
              return result;    // returning the value 0.5 pts
            }
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